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42 increase or lower earnings in 19787 By how much (expressed in
43 dollars)? Is it statistically significant at the 5% level?
44

45 (3) You roll two six-sided dice. What is the probability that six is
46 rolled for both die?

a7 \
: A=

50 (4) You roll two six-sided dice. What is the probability that eithe
51 die shows a number greater than 47

52

53

54

55 (5) Presume you've rolled a a six-sided die 5 times. So far you
56 haverolled a 2, 6, 3, 1, and 4. What is the probability of rolling 5
57 onyour next roll?

58

59

60
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55 (5) Presume you've rolled a a six-sided die 5 times. So far you
56 haverolled a 2, 6, 3, 1, and 4. What is the probability of rolling 5
57 onyour next roll?
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61 (6) Only 0.05% of individuals are known to have a rare, but

62 curable disease. How many people must test before you would
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